FORMULAS

Motor BHP (output} = Input HP x Motor Eff.(%)
100

Where K = Meter constant = watis per revolution of revolving disc
(value of K is marked on the meter nameplate or on the revolving
disc). Where current transiormers are used, multiply meter constant
by current iransformer ratio.

R = Number of dis¢ revolutions counted.
t = Time in seconds for R revolutions.

CALCULATING OPERATING COSTS OF PUMPS:
Costs in Cents per 1,000 Gallons:

Cost (¢) = kw Input x r x 1,000

Cost in Cents per Acre-inch

Cost (¢) = kw Input x r x 452.6

GPH

GPM

Where: r = cost of power in cents per kw-hr.

FRICTION LOSS TABLES

Friction Loss Table — SCH 40 STEEL PIPE
(Friction Loss in Feet of Head Per 100 Feet of Pipe)

Friction Loss Table — SCH 40 PVC

(Friction Loss in Feet of Head Per 100 Feet of Pipe)

i e | v (a2 J2ip] 3 | 4 7o 7 O V7 77 O PR Y7 S
DD |WD|[D[ID|ID|D][D][D D [ D [ b | D | D] b || D] D

GPM | GPH |0.622"|0.824"| 1.049"| 1.380"| 1.610"| 2.067| 2.469"| 3.068"| 4.026" GPM | GPH |0.622"| 0.824"] 1.049"| 1.380| 1.610"| 2.067"| 2.469"| 3.068"| 4.026"

2 | 120 | 48 2 | 120 | 41

3 | 180 | 10 | 25 3 | 180 | 87 | 22

4 | 240 | 174 42 4 | 240 | 148 37

57300 | 58| 63 | 19 5 | 300 | 22| 57 | 18

6 | 360 [365]| 89 | 27 6 | 360 |312| 8 | 25

7 | o0 | 487 | 118] 36 7 | 420 | #15] 106 ] 33

§ | 40 | &7 | 15 | 45 § | 480 | 53 | 135 | 42

9 | 540 | 783 | 188 57 9 | 540 | 66 | 168 | 52

10 | 600 | 959} 23 | 69 | 18 10 | 600 {805} 204 63 | 17

12 | 720 36| 96 | 25 | 12 2 | 720 286 | 89 | 23 | 11

14 | 840 435 128 | 33 | 15 14 | 840 38 | 118] 31| 14

16| 960 563 | 165 | 42 | 2 6| 960 486 | 154 | 4 | 19

20| 7,200 86.1| 251 | 6.3 | 29 20 | 1,200 G05 | 228 | 6 | 28

25 | 1,500 387 | 96 | 45 | 13 25 | 1500 387 | o1 | 43| 13

30 | 1,800 545 | 136 | 63 | 1.8 30 | 1800 27| 6 | 18

35 | 2,100 73.3 | 18.2 | 84 | 24 35 | 2,100 69| 8 | 24

40 | 2,400 9 | 235|108 31 | 13 4 | 2400 216|102 3 | 11

45 | 2700 2941 135| 39 | 16 45 | 2700 28 | 125] 38 | 14

50 | 3,000 36 | 164 | 47 | 19 50 73,000 B4 | 46 | 17

60 | 3,600 51 | 232 | 66 | 27 60 | 3,600 216 | 64 | 23

70| 4200 688 |313| 89 | 36 | 12 70 | 4200 287 85| 3 | 12

& | 4800 B2 | 405 | 114 | 46 | 1.6 80 | 4800 B | 108 38 | 14

90 | 5400 51 | 42| 58 | 2 90 | 5400 457|136 | 48 | 18

100_| 6,000 622 174 | 71 | 22 100 | 6,000 566 | 165 57 | 22

20 | 7,200 247 | 101 | 34 120 | 7,200 21| 8 | 3

140 | 8400 332 | 135 45 | 12 140 | 8,400 206|105) 4 | 11

160_| 9,600 43 | 175| 58 | 15 160_| 9,600 293 |134| 5 | 14

200 | 12,000 663 | 27 | 89 | 23 200 | 12,000 663 | 201 | 76 | 21

260 | 15,600 45 | 148 | 87 260 | 15,600 s24 | 122 | 34

200_| 18,000 59.6 | 195 | 49 300_| 18,000 421 | 158 | a4

Friction Loss Table —VALVES and FITTINGS
(Friction Loss in Equivalent Number of Feet of Straight Pipe)

NOMINAL SIZE OF FITTING AND PIPE
TYPE OF FITTING PIPE AND Az (34 | 1" [1 a1 12 2" [21/2°
AND APPLICATION FITTING EQUIVALENT LENGTH OF PIPE(IN FEET)
Insert Coupling Plastic 3 3 3 3 3 3 3
Threaded Adapter
{Plastic to Thread) Plastic 3 313 3 3 3 3
90° Standard Elbow Steel 2 213 4 4 5 <]
Plastic 2 2 3 4 4 5 6
Standard Tee Steel 1 2 2 3 3 4 4
_(Flow Through Run) Plastic 1 2 2 3 8 4 4
Standard Tee Steel 4 516 7 8 | 11 13
{Flow Through Side} Plastic 4 5 6 T 8 11 13
Gate Valve' Steel 1 1.4 1 2 2 2
Swing Check Valve' Steel 5 | 719} 12} 13 117] 21
NOTES:

Based on schedule 40 steel and plastic fitlings.

Figures given are friction losses in terms of Equivalent Lenghts of
straight pipe.

@ Friction loss figures are for screwed valves and are based on
equivalent lengths of steel pipe.




